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Choose the correct alternatives:                                                                                                               1 x 15 =15 
1. Idle time means  
(a) productive time; (b) unproductive time; (c) rest time; (d) none of these. 
2. For idle time 
(a) labours are responsible; (b) labours are partly responsible; (c) labours are not responsible; (d) none  of 
these. 
3. In idle time, workers are 
(a) paid; (b) not paid; (c) partly paid; (d) none of these. 
4. According to the nature, idle time is classified into 
(a) two categories; (b) two categories; (c) three categories; (d) none of these. 
5. Idle time arises out of causes of production is called 
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
6. Which of the following is/are the productive cause 
(a) time spend to go departments; (b) time spend for changing dress; (c) time spend for setting the machines; 
(d) all of these. 
7. Idle time arises out of managerial decisions is called 
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
8. Strike, lock out, go slow are under 
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
9. Idle time arising out of economic bindings of the concern are known as 
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
10. Idle time due to import restriction is under 
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
11. Which of the following item has seasonal fluctuation in demand? 
(a) ice cream; (b) umbrella; (c) glycerine soap; (d) all of these. 
12. Who imposes import restriction? 
 (a) importer; (b) exporter; (c) government; (d) none of them. 
13. Waiting time of materials, tools, and accessories is under 
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
14. Delay in direction, control or decision making process is under  
(a) economic cause; (b) administrative cause;(c) productive cause; (d) none of these. 
15. Idle time loss   
(a)is inevitable; (b) can be reduced; (c) cannot be avoided; (d) all of these. 
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